W=1200L4 T W=1200L T W=1200L4 T 100~270
20
FyFL—IL(AL) ® J 90LLTF
$8028
80 FyFL—ILZIFAL). m i i N _ -/
40 40 AS6113 | &l
S PBFARAYELTE R (SUS) [ ol %
M4 x 20 % %
},—} JL— A —E (AL ‘ é i :
=l SL2323 i ) ﬁf ¥
[ Lo
I YA IL—13—(AL) : QI =
SL65100C i o
E ; o
11 o
o | o
* ':’:’:’:ﬁ:”:”:”:”:”:":":":":":":”:”:”:":"L’I’Ii (— ;_ — ﬁ,l,SLi
Z:I_ rS R L(SUS) 7 ILSEARAL) 10 ? i%
M4 x 8 SKN— * * * hyAv:T] B4 2
FH(AL Taq v MAL) 70 40
S5545 SKN % * % JA \ HIREEAR(AL)
rSZAvE 4 3TE(SUS . . Nji i ~= 65x55/t=2.0mm
. FRSVEBLIMEUS) SaquhRILE—AL \ VAN SS
% M4 x 12 0 i X (AL)
i SKN* % kJHA 50| | I
o % B i @FJ AANL S5545
XX ‘ RN 1 Ll HARARILE—(AL)
% i S vaqvbhn—AL Al bﬂ I SKN * % % HA
¥l M oo SKN * % % JCA =
W L ==
FILEVAU T H—(AL) 100Kk | 100 |
TS400A-(80.100.120) S RL=4000LLF 10 2 AKL=4000LLF
FREYERL (P-SUS) ) M67Ry T Fv AL IURFvy T (HiE)
N - M 37 = v 8
M4 x 25 EARVaAV MR FEFER AFARILNSUS)/MB X 20 S8028ECP-L/R
% FREyERL (P-SUS) FILEIAUT oH— (AL TILTEAR(AL) TILSIAVToH— (AL D67y A(SUS)
o S M4 x 25 TS400A-(80.100.120) SKN— * * * TS400A-(80.100.120) M4 x 13
% FSRINRT (SUS) FH(AL) kT L—JL(AL) XH(AL) BT Sk (AL
o
W . M4x8 $8028
% AR ERLERL S $5545 S5545 \ | K72EWHA
= $I(D6)/Ma L (SUS) fER= 7> H—(SUS)
a| g 45 45 45 /
— M4 X 13(L F D) O—L | SGA-M8.~M8 X 35
S wokisr IS ;i A %I 777777 oo P e Dol SO NAM ] ERTUREryT (AL
- L PS55EPG N Y bl I U S ¥ 2 S ] e & i ' F [ hoﬁ SKN* * ¥ WMCA—R./L
B FILSER(AD 23|[1") 23 2 23 /" 22| 23| | (| I
*Tmrgr— SKN— % * % I L R 2l
wsL| * o : ‘
SRR ) S B EARRILT—(AD) J— A —ERfHHH(AL) SAAUMAA—ALD  FSRINET (SUS) A28 Jb—1—(AL) 60, BEYA NS — s
SKN * * * HA SL2323 SL65100K M4 x 8 SL65100C (BikT=)
g LLee —N—Taq VBt FS5RAvE 12l 3FE(SUS) JL—S—ERfFHHAL J—R— TR F vy T E)
S S8R40/M5 x 50 2.0mm 30 M4 x 12 30 SL2323 SL65100ECP-R(L)
S 7 . HISEEEAR(AL) Jo—13— L3tk 2 JL—13— Ltk 2 J—13— Ltk 20
@ = krh 65 X 55/t=2.0mm
= BERTVH— W=1200LLF W=1200LLF W=1200LLF 100~270
M12£ R IAR)LH (SUS) X
5;:‘%?525 : g[zﬁ_(m]805ﬁlﬁli80mm7yﬁ_li1ﬁﬁﬁ ;FEIQ X,EETEE ) E*Ito‘ya—_(i7quﬁ§§§§(:;L)EUL)35?.0 XEEB‘Z?#??’?"yHiTj”/EI‘/’G‘?o
Hna W THEFHEA
N _— 2 T " IH% — =S % &t i374=! B %
VAN | st - _— O ol o i
VAN _ B i | | & B gYL-l My |\ | @ |FTEA
L = £ & 5 @ 2% 7LiFE HERAE # R (A3)=1/8.1/25
kA — B i ‘ ‘ DAV T T ZAURL—)L./ SL-WB-S8028-KT

% B :2006.12.07 RE B : 2010.6.22

DQOPPOPOPDOOD

E-033



